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Fighting Climate Change:

Can We Humans Regulate Earthõs Climate?
A Summary Of The Current Situation
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CANADAõS QUEST TO BE A CLIMATE LEADER

¤Canada has made a Net Zero 2050 commitment.

¤Recent federal legislation has been imposed without 

cost -benefit analysis or due diligence on current 

climate science knowledge.

¤ Canadian government introduced the Greenhouse Gas Pollution

Pricing Act of Canada (2018-06-21) (òGHGActó).

¤ As the GHG Act was part 5 of the Budget Implementation ACT, 2018

No.1 the economic and scientific justification was not fully debated

in the House of Commons .

¤ Canadian government adopted the Canadian Net -Zero Emissions 

Accountability Act (Bill C -12) on November 19, 2020, which defined 

what previously had become law by default

https://www.canada.ca/en/services/environment/weather/climatech

ange/climate -plan/net -zero-emissions-2050.html

https://laws-lois.justice.gc.ca/eng/acts/G-11.55/page-1.html
https://www.parl.ca/DocumentViewer/en/42-1/bill/C-74/royal-assent
https://parl.ca/DocumentViewer/en/43-2/bill/C-12/royal-assent
https://www.canada.ca/en/services/environment/weather/climatechange/climate-plan/net-zero-emissions-2050.html


NET ZERO ðWHAT DOES IT MEAN?

¤ òNetZeroó- carbon dioxide (CO 2) component of GHGs released

from fossil fuel use and human activity must be removed to stop

global warming and to prevent extreme weather .

¤ Carbon taxes and carbon trading markets are presented as a 

means to offset the continued use of fossil fuels, while applying 

emissions limits (caps) on certain industries.  

¤ Industries that emit below their cap or services that provide a 

carbon ósinkó (e.g. newly òprotectedó old growth forest) can 

then sell their òexcessó to capped industries until that industry has 

time to implement its own net zero technology.  

¤ To make this viable, a price on carbon must be established. 

¤ The tax creates a penalty to the large emitter to force them into 

carbon trading, and offers a financial benefit to a low emitter.
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WHAT IS THE PAST PROGRESS ON EMISSIONS 

REDUCTIONS?
¤ Almost 30 years ago the United Nations Framework Convention on 

Climate Change (UNFCCC) was established.

¤ At that time the rate of temperature rise and the rate of carbon dioxide 

emissions from human industrial activity appeared to have been moving 

in lockstep rise since the 1970s.  

¤ The UNFCCC was formed to have unified global action to enact national 

policies to create a òstabilization of greenhouse gas concentrations in 

the atmosphere at a level that would prevent dangerous anthropogenic 

interference with the climate system.óThat was the assumption at the 

time.  

¤ The main greenhouse gas seen as the problem was carbon dioxide (CO 2

ðreferred to as ôcarbonõ today).  The main source was seen as industrial 

activity and the burning of fossil fuels.

¤ 30 years and 25 òCOPó ðConference of the Partiesó meetings later, 

emissions continue to rise.
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THE LARGEST EMITTERS ARE:

CHINA, USA, EU28, AND INDIA



CHINA EMITS IN ONE 

MONTH (819 MT/MONTH)

ABOUT WHAT CANADA 

EMITS IN 

ONE AND A HALF YEARS

https://blog.friendsofscience.org/wp -content/uploads/2020/08/Futile -Folly-aug -2020-Reissued-FINAL.pdf

https://blog.friendsofscience.org/wp-content/uploads/2020/08/Futile-Folly-aug-2020-Reissued-FINAL.pdf


CONFLICTING GOALS ON CLIMATE AND IMMIGRATION

¤ Climate activists constantly denounce Canada for 

missing targets while simultaneously calling for ôclimate 

justiceõ for the people of the world, especially 

immigrants. 

¤ Canadaõsfertility rate is only 1.4 children per female

(this is below replacement level) .

¤ Immigrants from tropical or temperate low per -capita emissions countries like

India, China and the Philippines, become high per -capita emissions citizens in

Canada .

¤ According to the World Bank, per capita CO 2 emissions in Canada from 2009 to 

2018 have been between 15 and 16 tonnes.  Canada has embarked on the 

òCentury Initiative ó to add another 63 million people to our population. 

https://data.worldbank.org/indicator/SP.DYN.TFRT.IN?locations=CA
https://data.worldbank.org/indicator/EN.ATM.CO2E.PC?end=2018&locations=CA&start=2008&view=chart
https://www.centuryinitiative.ca/


CANADA ð

NET ZERO 

BY 2050? Wind, solar, etc.

The thin yellow line above 

biofuels and waste.

¤ Past transitions from wood -coal, coal -natural gas, etc., have taken 70 -100 years. Wind and solar are 

ancient technologies, formerly abandoned in favour of high energy -dense, portable + transportable 

fossil fuel energy

¤ NetZero would mean 

phasing out all coal, 

natural gas and oil, and 

replacing it within 29 years 

with electrification by wind 

and solar; or hydrogen, 

geothermal, or tidal power, 

none of which are market 

ready or have suitable 

infrastructure.



CAN THE WORLD 
ACHIEVE NET ZERO BY 
2050?
¤https://blog.friendsofscience.org/wp -

content/uploads/2020/06/WHY -RENEWABLE-ENERGY-CANNOT-

REPLACE-FOSSIL-FUELS-BY-2050-FINAL-2.pdf


